UYAS 1-6 Mixed Problems
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1.

Find the midpoint of a segment with endpomts (—8, 5) and (3,

((3+-g) (- ws)) =8 -2!)

_6) U

2. | Find the slope of the line containing ( -8, 5) and (3, —6)
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3. | Write the equation for a line that goes through (6 6) and is parallel to AB if A= (1 3)and B= (4 —2) 5
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7. F md the two coordinates that divide the segment into thirds: .
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8. | Find X, if the slope of a seggent is—2 and the endpomts are ( =5 3) and (x 7)4—- wuse 5\0 e -Formmﬂa-
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Explain algebraically why TILE is a parallelogram. W\ - ]%
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Solve the following for w. —_———=—
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11.

Find the equation50f the line that contains -8, 5) and (3, —6). (please write in y = mx + b form)
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Graph these two equations and ﬁngl the coordinate where they intersect:
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13.

Find x, if the s]ope ofa segment is —= and the endpoints are ( -5 3) and (x 8)
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For the equation y = — 3— x—7 What is the parallel slope: __j; What is the perpendicular slope: '

Explain how you answered:
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15.

If the midpoint is (4,5) and one endpoint is (-1,-3) what is the other endpoint?
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